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mHTH | EREL BIE R4 9/1(9/2|9/3(9/4|9/5|9/6|9/7|9/8|9/9(9/10[9/11(9/12[9/13[9/14|9/15|9/16|9/17|9/18|9/19|9/20|9/21|9/22|9/23|9/24|9/25|9/26(9/27|9/28[9/29]|9/30| FEiy |:AIE[E%L

t4ERT1%15 | PA—1000 | #hERMSTm 0.04 0.05 0.05

HhFR M 50.5m 0.04 0.05 0.05 2
RENZER | PA—1000 | RN 51m 0.03 0.04 0.04

HhFH50.5m 0.04 0.04 0.04 ?
WA iE/INERR | PA—1000 | 1R MAD1m 0.03 0.03 0.03

3R A 50.5m 0.04 0.04 0.04 ?
BRINER | PA—1000 | thERASTmM 0.05 0.04 0.05

HhFR M 50.5m 0.05 0.04 0.05 ?
t4ERZE | PA—1000 | #iRAS1m 0.04 0.04 0.04

HhFR M 50.5m 0.04 0.04 0.04 ?
FEHRZER | PA—1000 | #iERAS1m 0.03 0.03 0.03

HhFRH50.5m 0.04 0.04 0.04 ?

t 4 EHT

MALH#E | PA—1000 | thEMADImM 0.04 0.05 0.05

3R H50.5m 0.04 0.05 0.05 ?
=ILUSFE | PA—1000 | #1FRAS1m 0.05 0.05 0.05

HhFR M 50.5m 0.05 0.04 0.05 ?
HREHHE | PA—1000 | HERASTmM 0.04 0.05 0.05

HhFR M 50.5m 0.05 0.05 0.05 ?
=IWWERERR | PA—1000 | #hEANS1m 0.03 0.03 0.03

R A 50.5m 0.03 0.03 0.03 ?
FE2tH%F#E | PA—1000 | thERMSTm 0.05 0.05 0.05

HhFR M 50.5m 0.05 0.05 0.05 ?
%_;ézs‘z_#% PA—1000 [#i&RMNSTm 0.04 0.04 0.04 ,

HhF H50.5m 0.04 0.04 0.04




